
INSTALLATION GUIDE

KICKSTAND

BLACK
COLOR



1 INSTALLATION GUIDE CONTENT PAGE

CONTENT PAGE

SAFETY 

SYMBOLS USED 

TOOLS REQUIRED 

KICKSTAND INSTALLATION 

HEIGHT ADJUSTMENT INSTALLATION

2


3


3


4 - 6


7



2 INSTALLATION GUIDE SAFETY

SAFETY

NOTE: We strongly urge you to read this Installation Guide in its entirely first. Refer to the appropriate sections 

for any issue which you don’t completely understand. Please note that not all kickstands have the features 

described in this Installation Guide. 



3 INSTALLATION GUIDE SYMBOLS USED | TOOLS REQUIRED

SYMBOLS USED

TOOLS REQUIRED



4 INSTALLATION GUIDE KICKSTAND INSTALLATION

KICKSTAND INSTALLATION

1

NO
.

DESCRIPTION TOOL REQUIRED

1 Kickstand (X1)

2 Washer M10 (X1)

3 Hex Socket Head Allen Bolt M10 (x1)

2

3

1 x Washer M10
1 x Hex Socket Head Allen Bolt M10



5 INSTALLATION GUIDE KICKSTAND INSTALLATION

KICKSTAND INSTALLATION

Put the Hex Socket Head Allen Bolt and the Washer (M10) into 
the hole infant of the rear tyre

Use a 8.0 (mm) Allen key to tighten the Hex Socket Head Allen Bolt M10 with 
the mounted Kickstand at the bottom



6 INSTALLATION GUIDE KICKSTAND INSTALLATION

KICKSTAND INSTALLATION



7 INSTALLATION GUIDE HEIGHT ADJUSTMENT INSTALLATION

HEIGHT ADJUSTMENT INSTALLATION

Use a size 2.5 Allen Key to adjust to your desire height

! NOTE: Make sure you do not tighten the bolt too tight




